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Exercise 4.3

Question 1:
Solve the following equations:
(a) 2y+§=3—; (b) 5¢+28=10 () $+3=2
q 5 5 25
d) =4+7=5 e) =x=10 = =
(d) : (e) 5% (f) 55
19 3 2
Tm+—=13 h) 6z+10=-2 i) —=—
(8) Tm > (h) (1) = 3
.~ 2b
—-5=3
() .
#. Answer 1:
3 37
a) 2y+—=—
(a) 2y =1
g TS L B @
2 2 2 2
16
= 2y=16 :>y=? = y=28
(b) 5¢+28=10
= 5r=10-28 = 5t=-18 :”:_TIS
© L4+3=2
5
— £=2_3 :>£:_1 = a=-1x%5
3 K
= a=-5
q
d) =+7=5
(d) 3
= 2_5_7 =>9_9 = g=-2x4
4 4
= g=-8
5
e) —x=10
(e) 5
= Sx=10x2 =5 Sx=20 zx:?
= x=4
5. 25
—_X=—
0 2 4
= 5x=§x2 :>5x=§ :>x=£
4 2 2%5
5
= x=—
2
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(g) 7m+%=13
= 7111:13—% :>7n:i:26_19 = Tm=—
7 1
m=—— = m=—
2%T 2
(h) 6z+10=-2
= 6z=-2-10 = 6z=-12 :>z=%2
= z=-2
~ 3 2
1) —=—
(1) 5 =3
= 31=2X2 ::>3[=i :)]:i
3 3 3x3
4
= [=—
9
2b
j) ——5=3
() ]
= 2—b=3+5 ::>-23—b=8 = 2h=8x3
= 2b=0A :>b=2—24 = b=12
Question 2:
Solve the following equations:
(@) 2(x+4)=12 (b) 3(n—5)=21
(c) 3(:1—5)=—2] (d) 3—2(2—_y)=7
(e) 4(2-x)=9 (f) 4(2-x)=9
(8) 4+5(p—1)=34 (h) 34—5(p—])=4
€. Answer 2:
(a) 2(x+4):12
= x+4=% = x+4=6 =>x=6-4
(b) 3(n-5)=21
= 11—5:% = n-5=7 =>n=T7+5
(©) 3(n—-5)=-21
-21
=> n—5=T =>n-5=-7 = n=-7+5
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(d) 3-2(2-y)=7

= -2(2-y)=7-3 = -2(2-y)=4 ::>2—y=i

= 2-y=-2 = =y =-2-2 = -y=—4
(e) -4(2-x)=9
= —4><2——.r><(—4)=9 = —8+4x=9 = 4x=9+8
= 4x=17 :>x:ﬂ
4
() 4(2-x)=9
= 4x2-xx(4)=9 = 8—4x=9 = 4x=9-8
= —dg=1 = x=—
4

(@) 4+5(p-1)=34
= 5(p-1)=34-4  =5(p-1)=30 = p_lz?

= p—-1=6 = p=6+1 = p=7

(h) 34-5(p-1)=4

= -5(p-1)=4-34 = -5(p-1)=-30 = p—lzis0
= p-1=6 = p=6+1 = p=17
Question 3:
Solve the following equations:
(a) 4=5(p-2) (b) -4=5(p-2)
(c) -16=-5(2-p) (d) 10=4+3(r+2)
(e) 28=4+3(1+5) (f) 0=16+4(m—6)
#, Answer 3:
(@) 4=5(p-2)
= 4=5xp-5x2 =4=5p-10 = 5p-10=4
= Sp=4+10 = 5p=14 = pz%
(b) 4=5(p-2)
= —4=5xp-5x2 = —4=5p—10 = 5p—-10=—4

= Sp=—4+10 =5p=6 :>ng

(©) ~16=-5(2-p)
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= -16=-5x2-(-5)xp = -16=-10+5p
= S5p=-16+10 = 5p=-6

(d) 10=4+3(r+2)
= 10-4=3(1+2) = 6=3(r+2)

= 2=142 = 2—2=¢
(e) 28=4+3(r+5)

= 28-4=3(1+5) = 24=3(1+5)

= 8=r+5 = 8-5=t
() 0=16+4(m—6)

= 0-16=4(m-6) = -16=4(m-6)

= 4=m-6 = 4+6=m
= =2

Question 4:
(a) Construct 3 equations starting with x=2.
(b) Construct 3 equations starting with x=-2.
£, Answer 4:
(a) 3 equations starting with x=2.
i x=2
Multiplying both sides by 10, 10x=20
Adding 2 both sides
10x+2=20+2 = 10x42=22
(i) x=2
Multiplying both sides by 5, S5x=10
Subtracting 3 from both sides
5x—3=10-3 = 5x-3=7
(iii) x=2
Dividing both sides by 5,

| =
w2

(b) 3 equations starting with x =-2.
i x=-2
Multiplying both sides by 3, 3x=-b6
(i) x=-2
Multiplying both sides by 3, 3x=—6
Adding 7 to both sides
x+7=-64+7 = 3x+7=1
(iii) x=-2
Multiplying both sides by 3, 3x=—6
Adding 10 to both sides
3x+10=—6+10 = 3x+10=4
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:%=r+5
3

= 3=t = =3

-1
:>—6=m—6
4

=2=m

4



